
3516/2 

Tesk chat volue ohdsgit e, is 
125 diuistble by3 2 

tk 14x+ 5 a mubtle bay o 

EX5 (D) 

= 0,3,6,9 

2 95 diigfele b 3? 

3+ 147245 isa multiple ek 3 

Mkelo 0,3,6,1, -9,-6,-3 
MteHtS ple ok S are 

== 0,3,6)1 

3 a8% oa muttle o 3? 

24 8h92t6,aa muihlo ot 3 
S16 03,14,1E 18 

8,6-20, A5,8 

2+8+2+ (o s Qrmutie e 

S6+= 18,1, 2, 24, 50 

= 2,5 8, 1, 

Stnce i5qdiqtt, so, = A58 , 



Q4 diuis tie by 
244 s a meatip e ohb 

G+= MË 0, 6, 12, 18,24 

- -630, 6, 12 

Sirce,X ba diatt, 
So=O otb 

Sr6q mubtiple oy6? 

Arg- 3++24 o) is a uubple o6 

14 0,6,12,/3, 2,30, 36, 42 

-Il,-5,, 15,.. 
\ ancd 

3+ 2+ 6 ig a metbihle sk 3 

114+= ,3,6,9,12,15, 18,21,21 

= -11, -S,-S,-2, ,1 10 

= ,4,+ 

Since s q olsat V-144a. 



h2 8 à dvischle by ? 
Ans +240+8 mubolo o 2 

44 82, tb,20, 24 28 
4,-10,--22,b 

H+= 1, 19, 20, 29, 4, 
=2,1, 6, 8,10. 
2, b,8 
SEnce, Yo q dfgtt = 2,4,6,8 

q112 a mubtihle e? 

q+1+4 424 a mutilo ok4 Ar 

o+ = 04,8,12, 16 ,20, 24,28,.. 

-1b, -12,-8, 0,4,8, 12 

Stunce 18 q dsot, = 0,4,8 

8 3 dfuigtble hy 99 

Ang4+9+h is a multthte 

4+=9, 18, 24,36, H5,:. 
= 4, 13. 

Since, k a digit 
So, 



9 5c5 55 a mutuple c 

Ars-5+N+5+5 

+5 
ameelple 

9 

Ars- 

20 + = 2t, 36, 13, 51, t. 

= 
, 5, 31 

SEnce, ru a diqit 

SO, = 

D 2 diigtble hl1? 

tOSum ch dhe dott in ouen lace= 
n1) 1 11 1 dd nlau= 3+2t 

Decente o the sum o ouen anol odod 
=-5

32 u a mtiple sy 1 

-5 = 0,11,22,33.. 
=-5, l6, 23 
Since, i a digt 

So, 5 



2 a muutsplo o ? 

Sum oka dlfqft (n. even dace = 

Ang 
11 17 1 1 odol Woce =+2= 7 

DPotenee e the gum o even and Oclol 

=- * 

S 2 sa mksple o i1 

-+0, 11, 22, 33,.. 

= , 18,29.. 

Since, x is a digtt 
So, + 
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